[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.
0.
0.

EHICIRACYYS ¥

DQ
DQ
Efficiend —— B3

005
004
003

0.950

1072 107 1

10 0?
TP vertr (cr%)

MKFT_TTbase
_mkFit_TT_baseline_6iter
mKkFit_TT RetrainV2_WP1_6iter

<4

mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter

[y

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0%
.009
.008
.007
.006
.005
.004]
.003
002+ i T PP RPN
e

>
0
?
2
P
8
0
0
0

Ratio

—— .
v e ]
i e RE EEEEEE] b R R

0 -8 6 -4 -2 0 2 4

Sim. PV z (cm)



	Contents
	Page 1


